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1. 
2. The system of Chinese immigration failed to solve labour problems after emancipation MAINLY because
a. Most Chinese immigrants preferred business occupations
b. The Chinese were too weak to work on plantations
c. ‘Family immigration’ was not permitted by the planters
d. The blacks openly resented the presence of Chinese immigrants on the plantation

3. Which of the following was not a reason for the stoppage of Chinese immigration to the Caribbean?
a. Chinese immigrants generally disliked working on plantation.
b. Chinese immigration was more expensive than East Indian immigration.
c. China started to suffer from a shortage of labour.
d. The mortality rate of Chinese immigrants was very high.

4. Which of the following was MAIN effects East Indian immigration on the sugar industry in the late 1800?
i. Labour costs were kept down
ii. Sugar production rose
iii. The immigrants introduced new technology
a. i and ii only
b. i and iii only
c. ii and iii only
d. i, ii and iii only

5. Guyana and Trinidad received a larger number of East Indian immigrants than other Caribbean colonies MAINLY because
a. The  planters in both colonies needed more laborers
b. The East Indians preferred to go to these two colonies
c. These two colonies were geographically closer to India.
d. These two colonies wished to introduce new crops

6. One of the MAIN reasons for encouraging white immigrants to the British Caribbean after emancipation was to
a. Provide highly skilled persons to manage the sugar industry
b. Reduce the imbalance in the numbers between the black and white population
c. Encourage relations between the black and white population
d. Reduce the rat of unemployment in Britain at the time

7. After 1895, Indian immigrants were NO longer entitled to
a. A free return passage to India after five years
b. Housing free of cost on the estates
c. Sundays and public holidays off from work
d. Medicine and hospitalization free of cost
 




8. The largest number of indentured immigrants to the British Caribbean came from
a. Africa
b. China
c. India
d. Madeira

9. Which of the following was an effect of the importation of Indian indentured labourers to the British Caribbean?
a. Rapid diversification of agriculture
b. Higher wages for the ex-slaves
c. Tension between the racial groups
d. Decline in sugar production

10. Which of the following ended Indian Immigration to the British Caribbean by 1917?
a. The Indian government legislated against it
b. There was no longer need for foreign labour
c. English humanitarians continually attacked it
d. The sugar economy was declining

11. Barbados did not receive immigrants in the nineteenth century MAINLY because
a. Less sugar was being produced
b. Planters refused the loan guaranteed by British
c. The sugar industry was mechanized
d. There was a labour surplus in the island





12. In which year did official immigration from India to the British Caribbean end?
a. 1897
b. 1917
c. 1912
d. 1937

13. Which of the following was NOT a MAJOR reason for the preference of East Indian immigrants over Chinese immigrants
a. The Chinese deserted the plantations as soon thy could
b. It was cheaper to recruit Indian immigrants
c. The government of China was not cooperative
d. The East Indians and the ex-slaves worked well together

14. To which of the following territories did MOST Madeirans go after 1840
a. Guyana
b. Jamaica
c. St. Lucia
d. Trinidad

15. Most Chinese immigrants were brought to the British Caribbean during the
a. First half of the eighteenth century
b. Second half of the eighteenth century
c. First half of the nineteenth century
d. Second half of the nineteenth century




16. Which of the following factors BEST explain why Chinese indentured immigration to the British Caribbean stopped after 1866?
i. The Chinese did not like the climate in the Caribbean
ii. The Chinese government was opposed to immigration
iii. It was less expensive to bring immigrants from India
iv. Chinese immigrants preferred to go to California

a. i and ii only
b. i, ii and iii only
c. ii, iii and iv only
d. i, ii, iii and iv














Short Answers
1. 
2. Explain why the sugar industry in British Guiana and Trinidad Actually expanded between 1838 and 1876? 15 marks
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3. Name three areas in India that provided the majority of immigrants for British Guiana and Trinidad. 5 marks
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4. Give TWO reasons for the immigrants’ decision to come to the West Indies. 5 marks
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